d’c/dp_dy [pb/GeV]

Ratio to CMS

T
T e
o O o
[~ (6)] (o))

i
o O
N w

10

[EEY

0.5

Jets

13000 GeV pp

Jet P, (CMS jets)

m CMS
—A— Pythia 6.428 370
--¢-- Pythia 6.428 atlas-csc
--+-- Pythia 6.428 d6t
Pythia 6.428 default
---¥-- Pythia 6.428 dw
—6— Pythia 6.428 p0

BURRR RRRRRRARES =L ML L

- 1
i A
S \
z \| 7/
= — N\
= A
III
- °" 1
1
"
1
N~ R
]
[
[
]
]
]
et bl |||||u|| ||||Iu|| LM

—_«’______| —F
z
-
-

~
~
~

~
~

Rivet 3.1.10, = 3.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


